

Summary of Bids Received

Project: 2017 Pavement Markings (Total Project = Base Bid and Added Alternatives A, B, C, D & E)

Section: 17-00000-15-GM

Description: Replace Thermoplastic & Polyurea Pavement Markings

CPMS Pin: B-01069

Let Date: 5/16/2017

Lake County Division of Transportation 2017 Pavement Marking Project

| Bidder | Address | City, State, Zip | Bond | Bid Price | % Over/Under Eng. Estimate | \$ Over/Under Eng. Estimate |
|-----------------------------------|--------------------------|-----------------------------|----------|----------------|-------------------------------|--------------------------------|
| Superior Road Striping, Inc. | 1980 N. Hawthorne Avenue | Melrose Park, IL 60160 | Bid Bond | \$560,818.11 | -39.73% | -\$369,743.60 |
| Maintenance Coatings Co. | 543 Woodbury Street | South Elgin, IL 60177 | Bid Bond | \$612,792.34 | -34.15% | -\$317,769.36 |
| Precision Pavement Markings, Inc. | P.O. Box 705 | Elgin, IL 60121 | Bid Bond | \$644,381.13 | -30.75% | -\$286,180.58 |
| A.C. Pavement Striping Co. | 695 Church Road | Elgin, IL 60123 | Bid Bond | \$791,849.20 | -14.91% | -\$138,712.51 |
| Marking Specialists Corporation | P.O. Box 745 | Arlington Heights, IL 60006 | Bid Bond | \$999,999.98 | 7.46% | \$69,438.28 |
| RoadSafe Traffic Systems, Inc. | 12225 Disk Drive | Romeoville, IL 60446 | Bid Bond | \$1,076,341.65 | 15.67% | \$145,779.95 |
| Contract Award Limit | | | | \$850,000.00 | | |
| Engineer's Estimate | | | | \$930,561.70 | | |

| | | | | | | | |
|--------------|-------|--------------|-------|-----------------|-------|--------------------------|-------|
| Design | _____ | IDOT(2) | _____ | Contract Bidder | _____ | PJT then Plan Rack | _____ |
| Finance | _____ | Bid Tab File | _____ | Resident Eng. | _____ | Administrative Assistant | _____ |
| Construction | _____ | Project File | _____ | Request By Mail | _____ | Mgr Capital Programming | _____ |

Return Bid Tabulation

Project: 2017 Pavement Markings (Total Project = Base Bid and Added Alternatives A, B, C, D & E)
Section: 17-00000-15-GM
Description: Replace Thermoplastic & Polyurea Pavement Markings
CPMS Pin: B-01069
Let Date: 5/16/2017

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Superior Road Striping, Inc. | | Maintenance Coatings Co. | | Precision Pavement Markings, Inc. | | A.C. Pavement Striping Co. | | Marking Specialists Corporation | | RoadSafe Traffic Systems, Inc. | |
|------------------|----------|--|-----------|-------|--------------|---------------------|------------------------------|---------------------|--------------------------|---------------------|-----------------------------------|---------------------|----------------------------|---------------------|---------------------------------|---------------------|--------------------------------|-----------------------|
| | | | | | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 1 | 78000100 | THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS | 20,317.1 | SQ FT | \$4.50 | \$91,426.95 | \$3.75 | \$76,189.13 | \$3.80 | \$77,204.98 | \$3.25 | \$66,030.58 | \$3.95 | \$80,252.55 | \$3.50 | \$71,109.85 | \$5.00 | \$101,585.50 |
| 2 | 78000200 | THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 426,964.0 | FOOT | \$0.65 | \$277,526.60 | \$0.47 | \$200,673.08 | \$0.47 | \$200,673.08 | \$0.60 | \$256,178.40 | \$0.52 | \$222,021.28 | \$0.68 | \$290,335.52 | \$0.75 | \$320,223.00 |
| 3 | 78000400 | THERMOPLASTIC PAVEMENT MARKING - LINE 6" | 67,264.0 | FOOT | \$1.00 | \$67,264.00 | \$0.70 | \$47,084.80 | \$0.70 | \$47,084.80 | \$0.90 | \$60,537.60 | \$0.74 | \$49,775.36 | \$1.20 | \$80,716.80 | \$1.25 | \$84,080.00 |
| 4 | 78000500 | THERMOPLASTIC PAVEMENT MARKING - LINE 8" | 6,760.0 | FOOT | \$1.35 | \$9,126.00 | \$1.00 | \$6,760.00 | \$1.18 | \$7,976.80 | \$1.20 | \$8,112.00 | \$1.19 | \$8,044.40 | \$1.60 | \$10,816.00 | \$1.60 | \$10,816.00 |
| 5 | 78000600 | THERMOPLASTIC PAVEMENT MARKING - LINE 12" | 48,661.0 | FOOT | \$2.50 | \$121,652.50 | \$1.40 | \$68,125.40 | \$1.50 | \$72,991.50 | \$1.75 | \$85,156.75 | \$1.99 | \$96,835.39 | \$2.40 | \$116,786.40 | \$2.50 | \$121,652.50 |
| 6 | 78000650 | THERMOPLASTIC PAVEMENT MARKING - LINE 24" | 5,359.0 | FOOT | \$5.00 | \$26,795.00 | \$3.75 | \$20,096.25 | \$4.00 | \$21,436.00 | \$3.25 | \$17,416.75 | \$3.99 | \$21,382.41 | \$4.80 | \$25,723.20 | \$5.00 | \$26,795.00 |
| 7 | 78004100 | PREFORMED PLASTIC PAVEMENT MARKING, TYPE C - | 69.0 | SQ FT | \$75.00 | \$5,175.00 | \$22.00 | \$1,518.00 | \$25.25 | \$1,742.25 | \$75.00 | \$5,175.00 | \$38.00 | \$2,622.00 | \$85.00 | \$5,865.00 | \$100.00 | \$6,900.00 |
| 8 | 78008200 | POLYUREA PAVEMENT MARKING TYPE I - LETTERS AND SYMBOLS | 3,338.8 | SQ FT | \$5.50 | \$18,363.40 | \$4.00 | \$13,355.20 | \$3.90 | \$13,021.32 | \$4.50 | \$15,024.60 | \$5.65 | \$18,864.22 | \$4.50 | \$15,024.60 | \$8.00 | \$26,710.40 |
| 9 | 78008210 | POLYUREA PAVEMENT MARKING TYPE I - LINE 4" | 14,860.0 | FOOT | \$1.00 | \$14,860.00 | \$0.45 | \$6,687.00 | \$0.60 | \$8,916.00 | \$0.65 | \$9,659.00 | \$0.61 | \$9,064.60 | \$1.00 | \$14,860.00 | \$2.00 | \$29,720.00 |
| 10 | 78008230 | POLYUREA PAVEMENT MARKING TYPE I - LINE 6" | 15,682.0 | FOOT | \$2.00 | \$31,364.00 | \$1.00 | \$15,682.00 | \$0.90 | \$14,113.80 | \$1.00 | \$15,682.00 | \$0.88 | \$13,800.16 | \$1.75 | \$27,443.50 | \$3.00 | \$47,046.00 |
| 11 | 78008240 | POLYUREA PAVEMENT MARKING TYPE I - LINE 8" | 200.0 | FOOT | \$3.00 | \$600.00 | \$1.25 | \$250.00 | \$2.00 | \$400.00 | \$1.50 | \$300.00 | \$1.35 | \$270.00 | \$2.35 | \$470.00 | \$6.50 | \$1,300.00 |
| 12 | 78008250 | POLYUREA PAVEMENT MARKING TYPE I - LINE 12" | 957.0 | FOOT | \$4.00 | \$3,828.00 | \$1.90 | \$1,818.30 | \$2.25 | \$2,153.25 | \$2.00 | \$1,914.00 | \$3.00 | \$2,871.00 | \$3.50 | \$3,349.50 | \$7.00 | \$6,699.00 |
| 13 | 78008270 | POLYUREA PAVEMENT MARKING TYPE I - LINE 24" | 1,231.0 | FOOT | \$7.50 | \$9,232.50 | \$4.00 | \$4,924.00 | \$5.00 | \$6,155.00 | \$4.50 | \$5,539.50 | \$4.50 | \$5,539.50 | \$7.00 | \$8,617.00 | \$8.00 | \$9,848.00 |
| 14 | X0327979 | PAVEMENT MARKING REMOVAL - GRINDING | 278,997.0 | SQ FT | \$0.75 | \$209,247.75 | \$0.35 | \$97,648.95 | \$0.48 | \$133,918.56 | \$0.35 | \$97,648.95 | \$0.89 | \$248,307.33 | \$0.90 | \$251,097.30 | \$0.75 | \$209,247.75 |
| 15 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$44,100.00 | \$44,100.00 | \$6.00 | \$6.00 | \$5,005.00 | \$5,005.00 | \$6.00 | \$6.00 | \$12,199.00 | \$12,199.00 | \$77,785.31 | \$77,785.31 | \$73,718.50 | \$73,718.50 |
| Bid Total | | | | | | \$930,561.70 | | \$560,818.11 | | \$612,792.34 | | \$644,381.13 | | \$791,849.20 | | \$999,999.98 | | \$1,076,341.65 |

Return Bid Details

Project: 2017 Pavement Markings (Total Project = Base Bid and Added Alternatives A, B, C, D & E)
Section: 17-00000-15-GM
Description: Replace Thermoplastic & Polyurea Pavement Markings
CPMS Pin: B-01069
Let Date: 5/16/2017

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|----------|----------|--|-----------|-------|--------------|--------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 1 | 78000100 | THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS | 20,317.1 | SQ FT | \$4.50 | \$91,426.95 | \$3.25 | \$5.00 | \$3.88 |
| 2 | 78000200 | THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 426,964.0 | FOOT | \$0.65 | \$277,526.60 | \$0.47 | \$0.75 | \$0.58 |
| 3 | 78000400 | THERMOPLASTIC PAVEMENT MARKING - LINE 6" | 67,264.0 | FOOT | \$1.00 | \$67,264.00 | \$0.70 | \$1.25 | \$0.92 |
| 4 | 78000500 | THERMOPLASTIC PAVEMENT MARKING - LINE 8" | 6,760.0 | FOOT | \$1.35 | \$9,126.00 | \$1.00 | \$1.60 | \$1.30 |
| 5 | 78000600 | THERMOPLASTIC PAVEMENT MARKING - LINE 12" | 48,661.0 | FOOT | \$2.50 | \$121,652.50 | \$1.40 | \$2.50 | \$1.92 |
| 6 | 78000650 | THERMOPLASTIC PAVEMENT MARKING - LINE 24" | 5,359.0 | FOOT | \$5.00 | \$26,795.00 | \$3.25 | \$5.00 | \$4.13 |
| 7 | 78004100 | PREFORMED PLASTIC PAVEMENT MARKING, TYPE C - | 69.0 | SQ FT | \$75.00 | \$5,175.00 | \$22.00 | \$100.00 | \$57.54 |
| 8 | 78008200 | POLYUREA PAVEMENT MARKING TYPE I - LETTERS AND SYMBOLS | 3,338.8 | SQ FT | \$5.50 | \$18,363.40 | \$3.90 | \$8.00 | \$5.09 |
| 9 | 78008210 | POLYUREA PAVEMENT MARKING TYPE I - LINE 4" | 14,860.0 | FOOT | \$1.00 | \$14,860.00 | \$0.45 | \$2.00 | \$0.89 |
| 10 | 78008230 | POLYUREA PAVEMENT MARKING TYPE I - LINE 6" | 15,682.0 | FOOT | \$2.00 | \$31,364.00 | \$0.88 | \$3.00 | \$1.42 |
| 11 | 78008240 | POLYUREA PAVEMENT MARKING TYPE I - LINE 8" | 200.0 | FOOT | \$3.00 | \$600.00 | \$1.25 | \$6.50 | \$2.49 |
| 12 | 78008250 | POLYUREA PAVEMENT MARKING TYPE I - LINE 12" | 957.0 | FOOT | \$4.00 | \$3,828.00 | \$1.90 | \$7.00 | \$3.28 |

Return Bid Details

Project: 2017 Pavement Markings (Total Project = Base Bid and Added Alternatives A, B, C, D & E)

Section: 17-00000-15-GM

Description: Replace Thermoplastic & Polyurea Pavement Markings

CPMS Pin: B-01069

Let Date: 5/16/2017

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|------------------|----------|---|-----------|-------|--------------|---------------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 13 | 78008270 | POLYUREA PAVEMENT MARKING TYPE I - LINE 24" | 1,231.0 | FOOT | \$7.50 | \$9,232.50 | \$4.00 | \$8.00 | \$5.50 |
| 14 | X0327979 | PAVEMENT MARKING REMOVAL - GRINDING | 278,997.0 | SQ FT | \$0.75 | \$209,247.75 | \$0.35 | \$0.90 | \$0.62 |
| 15 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$44,100.00 | \$44,100.00 | \$6.00 | \$77,785.31 | \$28,119.97 |
| Bid Total | | | | | | \$930,561.70 | | | |

Summary of Bids Received

Project: 2017 Pavement Markings
Section: 17-00000-15-GM
Description: Replace Thermoplastic & Polyurea Pavement Markings
CPMS Pin: B-01069
Let Date: 5/16/2017

Village of Buffalo Grove 2017 Pavement Marking Project

| Bidder | Address | City, State, Zip | Bond | Bid Price | % Over/Under Eng. Estimate | \$ Over/Under Eng. Estimate |
|-----------------------------------|--------------------------|-----------------------------|---|-------------|----------------------------|-----------------------------|
| Maintenance Coatings Co. | 543 Woodbury Street | South Elgin, IL 60177 | Bid Bond | \$14,117.00 | -51.64% | -\$15,077.00 |
| A.C. Pavement Striping Co. | 695 Church Road | Elgin, IL 60123 | Bid Bond | \$17,486.68 | -40.10% | -\$11,707.32 |
| Superior Road Striping, Inc. | 1980 N. Hawthorne Avenue | Melrose Park, IL 60160 | Bid Bond | \$24,729.00 | -15.29% | -\$4,465.00 |
| Marking Specialists Corporation | P.O. Box 745 | Arlington Heights, IL 60006 | Bid Bond | \$35,113.80 | 20.28% | \$5,919.80 |
| RoadSafe Traffic Systems, Inc. | 12225 Disk Drive | Romeoville, IL 60446 | Bid Bond | \$46,914.00 | 60.70% | \$17,720.00 |
| Precision Pavement Markings, Inc. | P.O. Box 705 | Elgin, IL 60121 | DID NOT INCLUDE A BID FOR VILLAGE MARKINGS | | | |
| Engineer's Estimate | | | | \$29,194.00 | | |

| | | | | | | | |
|--------------|-------|--------------|-------|-----------------|-------|--------------------------|-------|
| Design | _____ | IDOT(2) | _____ | Contract Bidder | _____ | PJT then Plan Rack | _____ |
| Finance | _____ | Bid Tab File | _____ | Resident Eng. | _____ | Administrative Assistant | _____ |
| Construction | _____ | Project File | _____ | Request By Mail | _____ | Mgr Capital Programming | _____ |

Village of Buffalo Grove 2017 Pavement Marking Project - Return Bid Tabulation

Project: 2017 Pavement Markings
Section: 17-00000-15-GM
Description: Replace Thermoplastic & Polyurea Pavement Markings
CPMS Pin: B-01069
Let Date: 5/16/2017

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Superior Road Striping, Inc. | | Maintenance Coatings Co. | | Precision Pavement Markings, Inc. | | A.C. Pavement Striping Co. | | Marking Specialists Corporation | | RoadSafe Traffic Systems, Inc. | |
|------------------|----------|---|----------|-------|--------------|--------------------|------------------------------|--------------------|--------------------------|--------------------|-----------------------------------|-------------|----------------------------|--------------------|---------------------------------|--------------------|--------------------------------|--------------------|
| | | | | | Unit Price | Extn. Price | Unit Price | Extn. Price | Unit Price | Extn. Price | Unit Price | Extn. Price | Unit Price | Extn. Price | Unit Price | Extn. Price | Unit Price | Extn. Price |
| 1 | 78000400 | THERMOPLASTIC PAVEMENT MARKING - LINE 6" | 2,192.0 | FOOT | \$1.25 | \$2,740.00 | \$1.00 | \$2,192.00 | \$0.70 | \$1,534.40 | | | \$0.81 | \$1,775.52 | \$1.85 | \$4,055.20 | \$1.50 | \$3,288.00 |
| 2 | 78000600 | THERMOPLASTIC PAVEMENT MARKING - LINE 12" | 2,046.0 | FOOT | \$2.50 | \$5,115.00 | \$2.00 | \$4,092.00 | \$1.50 | \$3,069.00 | | | \$2.05 | \$4,194.30 | \$3.70 | \$7,570.20 | \$3.00 | \$6,138.00 |
| 3 | 78000650 | THERMOPLASTIC PAVEMENT MARKING - LINE 24" | 500.0 | FOOT | \$5.50 | \$2,750.00 | \$7.40 | \$3,700.00 | \$4.00 | \$2,000.00 | | | \$4.25 | \$2,125.00 | \$7.40 | \$3,700.00 | \$6.00 | \$3,000.00 |
| 4 | 78008230 | POLYUREA PAVEMENT MARKING TYPE I - LINE 6" | 4,604.0 | FOOT | \$2.00 | \$9,208.00 | \$2.00 | \$9,208.00 | \$0.90 | \$4,143.60 | | | \$1.09 | \$5,018.36 | \$2.20 | \$10,128.80 | \$4.00 | \$18,416.00 |
| 5 | 78008250 | POLYUREA PAVEMENT MARKING TYPE I - LINE 12" | 364.0 | FOOT | \$4.00 | \$1,456.00 | \$4.00 | \$1,456.00 | \$2.25 | \$819.00 | | | \$3.65 | \$1,328.60 | \$4.40 | \$1,601.60 | \$8.00 | \$2,912.00 |
| 6 | 78008270 | POLYUREA PAVEMENT MARKING TYPE I - LINE 24" | 510.0 | FOOT | \$7.50 | \$3,825.00 | \$8.00 | \$4,080.00 | \$5.00 | \$2,550.00 | | | \$4.99 | \$2,544.90 | \$8.80 | \$4,488.00 | \$16.00 | \$8,160.00 |
| 7 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$4,100.00 | \$4,100.00 | \$1.00 | \$1.00 | \$1.00 | \$1.00 | | | \$500.00 | \$500.00 | \$3,570.00 | \$3,570.00 | \$5,000.00 | \$5,000.00 |
| Bid Total | | | | | | \$29,194.00 | | \$24,729.00 | | \$14,117.00 | | | | \$17,486.68 | | \$35,113.80 | | \$46,914.00 |

NO BID

Village of Buffalo Grove 2017 Pavement Marking Project - Return Bid Details

Project: 2017 Pavement Markings

Section: 17-00000-15-GM

Description: Replace Thermoplastic & Polyurea Pavement Markings

CPMS Pin: B-01069

Let Date: 5/16/2017

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|------------------|----------|---|----------|-------|--------------|--------------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 1 | 78000400 | THERMOPLASTIC PAVEMENT MARKING - LINE 6" | 2,192.0 | FOOT | \$1.25 | \$2,740.00 | \$0.70 | \$1.85 | \$1.17 |
| 2 | 78000600 | THERMOPLASTIC PAVEMENT MARKING - LINE 12" | 2,046.0 | FOOT | \$2.50 | \$5,115.00 | \$1.50 | \$3.70 | \$2.45 |
| 3 | 78000650 | THERMOPLASTIC PAVEMENT MARKING - LINE 24" | 500.0 | FOOT | \$5.50 | \$2,750.00 | \$4.00 | \$7.40 | \$5.81 |
| 4 | 78008230 | POLYUREA PAVEMENT MARKING TYPE I - LINE 6" | 4,604.0 | FOOT | \$2.00 | \$9,208.00 | \$0.90 | \$4.00 | \$2.04 |
| 5 | 78008250 | POLYUREA PAVEMENT MARKING TYPE I - LINE 12" | 364.0 | FOOT | \$4.00 | \$1,456.00 | \$2.25 | \$8.00 | \$4.46 |
| 6 | 78008270 | POLYUREA PAVEMENT MARKING TYPE I - LINE 24" | 510.0 | FOOT | \$7.50 | \$3,825.00 | \$4.99 | \$16.00 | \$8.56 |
| 7 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$4,100.00 | \$4,100.00 | \$1.00 | \$5,000.00 | \$1,814.40 |
| Bid Total | | | | | | \$29,194.00 | | | |

Summary of Bids Received

Project: 2017 Pavement Markings
Section: 17-00000-15-GM
Description: Replace Thermoplastic & Polyurea Pavement Markings
CPMS Pin: B-01069
Let Date: 5/16/2017

Village of Wheeling 2017 Pavement Marking Project

| Bidder | Address | City, State, Zip | Bond | Bid Price | % Over/Under Eng. Estimate | \$ Over/Under Eng. Estimate |
|-----------------------------------|--------------------------|-----------------------------|---|--------------|----------------------------|-----------------------------|
| Maintenance Coatings Co. | 543 Woodbury Street | South Elgin, IL 60177 | Bid Bond | \$38,987.23 | -46.46% | -\$33,831.22 |
| Superior Road Striping, Inc. | 1980 N. Hawthorne Avenue | Melrose Park, IL 60160 | Bid Bond | \$44,803.74 | -38.47% | -\$28,014.71 |
| A.C. Pavement Striping Co. | 695 Church Road | Elgin, IL 60123 | Bid Bond | \$56,059.91 | -23.01% | -\$16,758.54 |
| Marking Specialists Corporation | P.O. Box 745 | Arlington Heights, IL 60006 | Bid Bond | \$78,637.21 | 7.99% | \$5,818.76 |
| RoadSafe Traffic Systems, Inc. | 12225 Disk Drive | Romeoville, IL 60446 | Bid Bond | \$134,381.70 | 84.54% | \$61,563.25 |
| Precision Pavement Markings, Inc. | P.O. Box 705 | Elgin, IL 60121 | DID NOT INCLUDE A BID FOR VILLAGE MARKINGS | | | |
| Engineer's Estimate | | | | \$72,818.45 | | |

| | | | | | | | |
|--------------|-------|--------------|-------|-----------------|-------|--------------------------|-------|
| Design | _____ | IDOT(2) | _____ | Contract Bidder | _____ | PJT then Plan Rack | _____ |
| Finance | _____ | Bid Tab File | _____ | Resident Eng. | _____ | Administrative Assistant | _____ |
| Construction | _____ | Project File | _____ | Request By Mail | _____ | Mgr Capital Programming | _____ |



Village of Wheeling 2017 Pavement Marking Project - Return Bid Tabulation

Project: 2017 Pavement Markings
Section: 17-00000-15-GM
Description: Replace Thermoplastic & Polyurea Pavement Markings
CPMS Pin: B-01069
Let Date: 5/16/2017

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Superior Road Striping, Inc. | | Maintenance Coatings Co. | | Precision Pavement Markings, Inc. | | A.C. Pavement Striping Co. | | Marking Specialists Corporation | | RoadSafe Traffic Systems, Inc. | |
|------------------|----------|--|----------|-------|--------------|--------------------|------------------------------|--------------------|--------------------------|--------------------|-----------------------------------|--------------|----------------------------|--------------|---------------------------------|--------------|--------------------------------|--------------|
| | | | | | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 1 | 78000100 | THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS | 246.6 | SQ FT | \$5.00 | \$1,233.00 | \$4.00 | \$986.40 | \$3.80 | \$937.08 | | | \$4.55 | \$1,122.03 | \$3.75 | \$924.75 | \$6.00 | \$1,479.60 |
| 2 | 78000200 | THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 1,208.0 | FOOT | \$0.70 | \$845.60 | \$1.00 | \$1,208.00 | \$0.47 | \$567.76 | | | \$0.57 | \$688.56 | \$0.70 | \$845.60 | \$1.00 | \$1,208.00 |
| 3 | 78000400 | THERMOPLASTIC PAVEMENT MARKING - LINE 6" | 2,023.0 | FOOT | \$1.25 | \$2,528.75 | \$1.20 | \$2,427.60 | \$0.70 | \$1,416.10 | | | \$0.81 | \$1,638.63 | \$1.65 | \$3,337.95 | \$1.50 | \$3,034.50 |
| 4 | 78000600 | THERMOPLASTIC PAVEMENT MARKING - LINE 12" | 561.0 | FOOT | \$2.50 | \$1,402.50 | \$2.40 | \$1,346.40 | \$1.50 | \$841.50 | | | \$2.05 | \$1,150.05 | \$3.30 | \$1,851.30 | \$3.00 | \$1,683.00 |
| 5 | 78000650 | THERMOPLASTIC PAVEMENT MARKING - LINE 24" | 318.0 | FOOT | \$5.50 | \$1,749.00 | \$6.00 | \$1,908.00 | \$4.00 | \$1,272.00 | | | \$4.25 | \$1,351.50 | \$6.60 | \$2,098.80 | \$6.00 | \$1,908.00 |
| 6 | 78008200 | POLYUREA PAVEMENT MARKING TYPE I - LETTERS AND SYMBOLS | 582.4 | SQ FT | \$6.00 | \$3,494.40 | \$5.00 | \$2,912.00 | \$3.90 | \$2,271.36 | | | \$6.04 | \$3,517.70 | \$6.00 | \$3,494.40 | \$16.00 | \$9,318.40 |
| 7 | 78008210 | POLYUREA PAVEMENT MARKING TYPE I - LINE 4" | 20,180.0 | FOOT | \$1.00 | \$20,180.00 | \$0.55 | \$11,099.00 | \$0.60 | \$12,108.00 | | | \$0.74 | \$14,933.20 | \$1.10 | \$22,198.00 | \$2.50 | \$50,450.00 |
| 8 | 78008230 | POLYUREA PAVEMENT MARKING TYPE I - LINE 6" | 3,934.0 | FOOT | \$2.00 | \$7,868.00 | \$1.00 | \$3,934.00 | \$0.90 | \$3,540.60 | | | \$1.09 | \$4,288.06 | \$1.90 | \$7,474.60 | \$4.00 | \$15,736.00 |
| 9 | 78008250 | POLYUREA PAVEMENT MARKING TYPE I - LINE 12" | 2,349.0 | FOOT | \$4.00 | \$9,396.00 | \$2.00 | \$4,698.00 | \$2.25 | \$5,285.25 | | | \$3.65 | \$8,573.85 | \$3.80 | \$8,926.20 | \$8.00 | \$18,792.00 |
| 10 | 78008270 | POLYUREA PAVEMENT MARKING TYPE I - LINE 24" | 606.0 | FOOT | \$7.50 | \$4,545.00 | \$5.00 | \$3,030.00 | \$5.00 | \$3,030.00 | | | \$4.99 | \$3,023.94 | \$7.60 | \$4,605.60 | \$16.00 | \$9,696.00 |
| 11 | X0327979 | PAVEMENT MARKING REMOVAL - GRINDING | 16,076.2 | SQ FT | \$1.00 | \$16,076.20 | \$0.70 | \$11,253.34 | \$0.48 | \$7,716.58 | | | \$0.95 | \$15,272.39 | \$1.05 | \$16,880.01 | \$1.00 | \$16,076.20 |
| 12 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$3,500.00 | \$3,500.00 | \$1.00 | \$1.00 | \$1.00 | \$1.00 | | | \$500.00 | \$500.00 | \$6,000.00 | \$6,000.00 | \$5,000.00 | \$5,000.00 |
| Bid Total | | | | | | \$72,818.45 | | \$44,803.74 | | \$38,987.23 | | | \$56,059.91 | | \$78,637.21 | | \$134,381.70 | |

NO BID

Village of Wheeling 2017 Pavement Marking Project - Return Bid Details

Project: 2017 Pavement Markings
Section: 17-00000-15-GM
Description: Replace Thermoplastic & Polyurea Pavement Markings
CPMS Pin: B-01069
Let Date: 5/16/2017

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|------------------|----------|--|----------|-------|--------------------|--------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 1 | 78000100 | THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS | 246.6 | SQ FT | \$5.00 | \$1,233.00 | \$3.75 | \$6.00 | \$4.42 |
| 2 | 78000200 | THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 1,208.0 | FOOT | \$0.70 | \$845.60 | \$0.47 | \$1.00 | \$0.75 |
| 3 | 78000400 | THERMOPLASTIC PAVEMENT MARKING - LINE 6" | 2,023.0 | FOOT | \$1.25 | \$2,528.75 | \$0.70 | \$1.65 | \$1.17 |
| 4 | 78000600 | THERMOPLASTIC PAVEMENT MARKING - LINE 12" | 561.0 | FOOT | \$2.50 | \$1,402.50 | \$1.50 | \$3.30 | \$2.45 |
| 5 | 78000650 | THERMOPLASTIC PAVEMENT MARKING - LINE 24" | 318.0 | FOOT | \$5.50 | \$1,749.00 | \$4.00 | \$6.60 | \$5.37 |
| 6 | 78008200 | POLYUREA PAVEMENT MARKING TYPE I - LETTERS AND SYMBOLS | 582.4 | SQ FT | \$6.00 | \$3,494.40 | \$3.90 | \$16.00 | \$7.39 |
| 7 | 78008210 | POLYUREA PAVEMENT MARKING TYPE I - LINE 4" | 20,180.0 | FOOT | \$1.00 | \$20,180.00 | \$0.55 | \$2.50 | \$1.10 |
| 8 | 78008230 | POLYUREA PAVEMENT MARKING TYPE I - LINE 6" | 3,934.0 | FOOT | \$2.00 | \$7,868.00 | \$0.90 | \$4.00 | \$1.78 |
| 9 | 78008250 | POLYUREA PAVEMENT MARKING TYPE I - LINE 12" | 2,349.0 | FOOT | \$4.00 | \$9,396.00 | \$2.00 | \$8.00 | \$3.94 |
| 10 | 78008270 | POLYUREA PAVEMENT MARKING TYPE I - LINE 24" | 606.0 | FOOT | \$7.50 | \$4,545.00 | \$4.99 | \$16.00 | \$7.72 |
| 11 | X0327979 | PAVEMENT MARKING REMOVAL - GRINDING | 16,076.2 | SQ FT | \$1.00 | \$16,076.20 | \$0.48 | \$1.05 | \$0.84 |
| 12 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$3,500.00 | \$3,500.00 | \$1.00 | \$6,000.00 | \$2,300.40 |
| Bid Total | | | | | \$72,818.45 | | | | |